
1-10 90 80 70 60 50 40 30 20 10 0

     

1) 429 ÷ 8 = 61 r2
×

61
8

+
488

2
490

2) 801 ÷ 7 = 114 r3
×

114
7

+
798

3
801

3) 765 ÷ 6 = 127
×

127
6

+
762

0
762

4) 129 ÷ 2 = 64 r1
×

64
2

+
128

1
129

5) 277 ÷ 2 = 138 r1
×

138
2

+
276

1
277

6) 851 ÷ 2 = 425 r1
×

425
2

+
850

1
851

7) 710 ÷ 2 = 236 r2
×

236
2

+
472

2
474

8) 999 ÷ 7 = 142 r5
×

142
7

+
994

5
999

9) 489 ÷ 7 = 97 r4
×

97
7

+
679

4
683

10) 817 ÷ 6 = 136 r1
×

136
6

+
816

1
817

Division problems can be
checked by multiplying the
quotient by the divisor and
then adding the remainder.

If the answer is the same as
the dividend, it is correct.

263 ÷ 8 = 32 r7

×
32
8

256
+ 7

263

182 ÷ 6 = 29 r5

×
29
6

174
+ 5

179

1. not

2. correct

3. not

4. correct

5. correct

6. correct

7. not

8. correct

9. not

10. correct

     

Check each answer. Determine if the answer is 'correct' or 'not'.
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